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Answer all the Questions
QNo. b Question Description Marks

Sec.

Find the current flowing through 10Q resistor in the network shown below using
Thevenin’s theorem and draw the Thevenin equivalent circuit.
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In the circuit shown below, the switches can be opened or closed to control the current
through R5. Calculate the current through R5 for all combinations of the switches
being open closed.
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(b) A 230V, 50 Hz ac supply is applied to a coil of 0.06 H inductance and 2.5 resistance
connected in series with a 6.8uF capacitor. Calculate (i) Impedance (ii) Current (iii) 5)
Phase angle between current and voltage (iv) power factor.

3 Which is the most preferred configuration in transistor for amplification and Why?
Draw its circuit diagram and analyse the input and output characteristics.

4 A 5.0V stabilized power supply is required to be produced from a 12V DC power
supply input source. The maximum power rating Pz of the Zener diode is 2W. Using
the Zener regulator circuit below, Calculate

1. The maximum current flowing through the Zener diode

2. The minimum value of the series resistor Rs

3. The load current I if the resistor of 1KQ is connected across the Zener diode.
4. The Zener current Iz at full load.
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(b) Implement an inverter using only NAND gate 2
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Note:
RBT — Revised Bloom’s Taxonomy

KL1 - Remember, KL2-Understand, KL3-Apply, KL4-Analyse, KL5-Evaluate, KL6-Create
CO — Course Outcome

Page 2 of 2



